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1. Which of the following would cause an unambiguous increase in the equilibrium price in a

market?

A) An increase in supply and an increase in demand.
B) An increase in supply and a decrease in demand.
C) A decrease in supply and an increase in demand.
D) A decrease in supply and a decrease in demand.
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2. Consider the following three market baskets.

Basket Good x Good y
A 2 6
B 6 4
Cc 4 5

If Basket A and Basket B are on the same indifference curve, preferences satisfy the usual
assumptions, and the indifference curves have a diminishing marginal rate of substitution,
A) Basket C is preferred to Basket A
B) Basket A is preferred to Basket C
C) The consumer is indifferent between Basket A and Basket C
D) There is not enough information to determine how the consumer would rank Basket A

relative to Basket C.

3. Suppose the price ‘of A is $4, the price of B is $2, and that the consumer is currently
spending all available income. At the consumer’s current consumption basket the marginal
utility of A is 5 and the marginal utility of B is 3.

A) The consumer is currently maximizing utility. _

B) The consumer could increase utility by consuming more of good 4 and less of good B.
0 The consumer could increase utility by consuming more of good B and less of good 4.
D) Nothing can be said about the consumer’s utility because we do not know the consumer’s

income or utility function.

4. Suppose John is planning to join a book club. Membership in the club will allow John to
purchase books for half price. Normally books cost $10. If John has an income of $200, the club
membership fee is $50, and we plot the number of books purchased on the horizontal axis and a
composite “other goods” which have a price of $1 on the vertical axis, the slope of John’s
budget line after joining the club will be
A)-10 B) -5 C)-2 D)-1

5. The production function Q=KL exhibits
A) increasing returns to scale.
B) constant returns to scale.
C) decreasing returns to scale.
D) undefined returns to scale.
6. Suppose every automobile requires exactly one engine (E)and four tires(7"). The production
function for this process is
A) Q=E+4T
B) OQ=4E+T
C) Q=min(E,0.25T)
D) Q=min(4E,T)
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Suppose that a consumer considers coffee(C) and tea (T) to be perfect substitutes, but he
requires two cups of tea to give up one cup of coffee. This consumer’s budget constraint can
be written as 2.5C +7T =10. What should the consumer buy?

A) 2 cups of tea and no coffee.
B) 10 cups of tea and no coffee
C) 2.5 cups of coffee and no tea.
D) 4 cups of coffee and no tea.

Compensaﬁng variation 1is

A) the change in income necessary to hold the consumer at the final level of utility as price
changes. A

B)' always the area under the demand curve and above the price paid.

C) the change in income necessary to restore the consumer to the initial level of utility.

D) the difference in the consumer’s income between the purchase of the original basket and the

new basket at the old prices.

Use the following information for problems 9 and 10. Suppose that a firm’s production function is
given by Q=K°L. Further suppose that w=3$10 and r=$20.

9.

10.

11.

12

13.

Suppose the firm wants to produce 27,000 units of output. What is the most efficient
combination of labor and capital (L,K)?

A) (120, 15) B) (30, 30) C) (7.5, 60) D) (50, 40)

Suppose that the firm wants to spend exactly $1,200. What is the most efficient combination of
labor and capital (L,K)?
A) (20, 50) B) (25, 47.5) C) (30,45) D) (40, 40)
Suppose for a particular production function, the cost-minimizing levels of labor and capital are
L= —Q— _r_ K = _‘2 _M_)
10Vw 10Vr
If =5 and w=20, what is the equation for long-run total cost?

89 B %Y, ©20 D)4

Suppose that a market is initially in equilibrium. The initial demand curve is P =90- 0. The
initial supply curve is P =20°. Suppose that the government imposes a $3 tax on this market.
What is the dead-weight loss due to the tax?

A) $3. B) $2. C) $1.50. D) $1.00.

Moral hazard in auto insurance might refer to

A) an auto owner failing to maintain the car, increasing the likelihood of an accident.

B) an applicant withholding information from the insurance company about the likelihood of
having an accident.

C) an applicant lying on their application form.

D) an applicant having more cars than they announce when they complete their application.
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14. Suppose that your local internet provider, USA-line, is congested around 8 p.m. on Thursday
nights, which is when many students download Friday’s homework assignments from their
professors’ home pages. Thursday nights represent the peak volume time for USA-line.
USA-line’s supply curve can be represented as P =2+20. The cost of the congestion during
peak times can be represented as P =(. The marginal benefit during peak times can be
represented as P=18- Q. If USA-line does consider the social cost of the congestion at peak
volume times, what price will they charge for their (monthly) service?

A) $4. B) $5.33. C) $12.67. D) §14.

EHEAHTE - 105 AR TR RN RS -

The following table shows output per day for Mexico and Canada, two countries that produce beer

and T-shirts. Assume that their workers work 6 days per week.

Output per day
Mexico Canada
Beer (thousands of bottles) ) 5 10
T-shirts (thousands) 10 12

(1) Who has a comparative advantage in producing beer? How can you tell? (4%)
(2) Show that specialization can benefit both countries. (6%) ( ;ﬁ%%ﬁﬁ{f{j—@;EA{’EiFﬁ—t

— A RE RS TEEE SR » (515 Beer # T-shirt (- EMEREIEM - )
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Please select one most appropriate answer in the followmg questions.

1.  The first computers for home use were only sold in kit form to technical
enthusiasts who did their own assembly. Demand was high and so were
prices. At that time, the firm offering these kits would likely have been
using the ____ concept. :

A. Production

Market

Technological

Product

Selling

5P aw

2. Which of the following statements best represents the societal marketing
concept?
A." We have developed a new, more convenient package.

We use only recycled paper in our packaging.

This product saves much more time for the consumer.

Give the customers what they want.

Sell at the Jowest price.

HEaw

3. At Hampton Inns, any employee, including janitors and maids, has the
authority to provide a dissatisfied customer with a refund. This employee
empowerment is consistent with which new economy belief?

A. Remarketing

Demarketing

Centralization

Oufsourcing

Relationship marketing

Hoag

4. Which of the following is an example of a good mission statement?

A. GCC will provide superior products at a fair price to our customers,
while supporting our local community and providing our employees
and stockholders with the opportunity to achieve their personal
objectives.
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B. ABC Corporation will produce the highest quality products with the

best service and the most affordable prices in the industry.

Rosita’s will provide the world’s best pizza to its customers.

D. Operation ethically, XYZ Corporation will dominate its industry with
low cost products. We will seek to operate in only a limited number of
industries. However, in those industries we will undercut the prlces and

_ provide better service than our competitors.
E. All of the above are examples of good mission statements.

Q

5.  The market for cake mixes was not growing. Procter & Gamble owned

Duncan Hines, a cake mix brand with a low market share. According to the
Boston Consulting Group matrix, the Duncan Hines brand was categorized
asa ______ by Procter & Gamble before it sold the brand to Aurora Foods.
A. Dog.

Question mark

Exclamation point

Cash cow

Problem child

HEaoR

6. The work of sought to explain why people are driven by a particﬁlar

need and why one person spends time and energy seeking to meet a
particular need while another spends time on an entirely different need.
A. Abraham Maslow

Sigmund Freud

Max Weber

Frederick Herzberg

Frederick Taylor

Ho AW

7. 7-Up beverage is using an irreverent advertising campaign that pokes fun at
other campaigns that appeal to Generation X members who are cynical
about advertising. 7-Up is using —_ tosegment its market.

A. Demographics

Social class

Lifestyle

Usage rate

Loyalty status

HEow

(X THIEER )
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8. In Tokyo, Disneyland is ‘'owned and operated by Oriental Land Company
and pays Walt Disney Company 10 percent of all admissions and 5 pei‘cent (
of all food and merchandise sales. This is an example ofa —___ agreement. |
A. Contract manufacturing : |

Joint venture ' /

Cooperative organization

Direct investment

Hoaw

Licensing ' ‘ 'J

9. When Starbucks Corp, the U.S.-based specialty coffee chain, opened a dozen |
outlets in Vienna, Austria, the coffeehouses had the feel of a comfortable
living room. In a Starbucks decided to sell the same products it sells
elsewhere and to maintain its no-smoking policy in a city where the majority
of the people smoke. Starbucks usesa _____ marketing mix.

~ A. Standardized '
Extended
Centralized
Adaptive
- Domestic

HEaw

10. Since regulations on sales promotion vary from country to country,
multinational companies generally:
A. avoid sales promotion together
B. take the attitude that should ask for a government’s forgiveness rather
than its permission when pursuing sales promotion strategies
C. create a centralized department at the home office to conduct all sales
promoting activities
make sales promotion a responsibility of local management
E. assume what works in one country will work in a similar country (e.g.,

=

Norway and Sweden)

= ~ Essay Question (45 109%)
Identify the weaknesses of the product life-cycle concept that you should keep in

mind as an aspiring marketmg manager.

(ER: TEIVEEE )
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1.

Suppose that the market for bicycles is initially in equilibrium. Further suppose that there is an
increase in the price of bicycle helmets. Which of the following accurately describes the new
equilibrium?

A) The equilibrium price will rise; the equilibrium quantity will fall.

B) The equilibrium price will rise; the equilibrium quantity will rise.

C) The equilibrium price will fall; the equilibrium quantity will fall.

.D) The equilibrium price will fall; the equilibrium quantity will rise.

Suppose that a consumer has the utility function U =34+4B.The MRS 5.4 18

A) 125
B) 0.75

C) 1.00
D) cannot be determined since the values of 4 and B are unknown

Suppose John is planning to join a book club. Membership in the club will allow John to
purchase books for half price. Normally books cost $10. If John has an income of $200, the club
membership fee is $50, and we plot the number of books purchased on the horizontal axis and a
composite “other goods” which have a price of $1 on the vertical axis, the slope of John’s

budget line after joining the club will be
A)-10 B)-2 C)-5 D)-1
Suppose that a consumer considers coffee(C) and tea (T) to be perfect substitutes, but he

requires two cups of tea to give up one cup of coffee. This consumer’s budget constraint can
be written as 2.5C+7T =10. What should the consumer buy?

A) 2 cups of tea and no coffee.
B) 10 cups of tea and no coffee
C) 2.5 cups of coffee and no tea.
D) 4 cups of coffee and no tea.
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5. Suppose the consumer’s utility function is given by U(x,y) =\/;y_ . The equation for this
consumer’s demand curve for x is
I I
A) x= B) x=17 C)y x=2P D -
) x=2 » ) ) x ) ¥=7 P
Where [ is the consumer’s budget and P, is the price of x.
6. Suppose every automobile requires exactly one engine (£)and four tires (7). The production

function for this process is
A) O=E+4T

B) O=4E+T

C) Q=min(E,0.25T)

D) Q=min(4E,T)

Use the following information for problems 7 and 8. Suppose that a firm’s production function is
given by Q=KL . Further suppose that w=$10 and r=$20.

7.

10.

Suppose the firm wants to produce 27,000 units of output. What is the most efficient
combination of labor and capital (L, K)?
A) (120, 15) B) (30, 30) C) (7.5, 60) D) (50, 40)

Suppose that the firm wants to spend exactly $1,200. What is the most efficient combination of
labor and capital (L,K)?

A) (20, 50) B) (25, 47.5) C) (40, 40) D) (30, 45)

The market for sweet potatoes consists of 1,000 identical firms. The market demand curve is
given by Of =402—P. Each firm has a short-run total cost curve of STC=0.5+1000".

Each firm has a short-run marginal cost curve of SMC =200Q. Each firm has an average
variable cost curve of 4AVC =100Q. Whatisthe individual firm’s supply curve?

A) s(P)=200P.  B) s(P)=5zP. ©) s(P)=100P.  D)s(P)=gP.

Which of the following is NOT a real-world example of second-degree price discrimination?

A) A pizza parlor sells large and small pizzas. Although the large pizzas are twice as big as
the small pizzas, they cost less than double the price of a small pizza.

B) An electric company sells “blocks” of power at different prices. Specifically, any customer
who buys more that Q; units of electricity can purchase additional units a a lower block
price.

C) Sam’s Club® warehouses sell bulk quantities of macaroni and cheese for a cheaper per unit
price than a grocery store, but the boxes are packaged together so that the customer must
buy six boxes at a time.

D) A movie theater charges senior citizens a cheaper price for movie tickets than it charges

non-senior citizens for the same movie ticket.
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11. Suppose that a market is initially in equilibrium. The initial demand curve is P =90- Q?. The
initial supply curve is P=2Q°. Suppose that the government imposes a $3 tax on this market.
What is the dead-weight loss due to the tax?

A) $3. B) $2. C) $1.50. D) $1.00.

12. dentify the truthfulness of the following statements.
I. A firm decides to rent a computer for $300 per month. This is an example of a fixed cost but
not a sunk cost. _
IL. A firm decides to purchase a computer for $1,500. This is an example of a fixed cost and a
sunk cost. ’
A) Iis true; II is false.
B) Iisfalse; Il'is true.
C) Both I and II are true.
D) Both I and II are false.

13. An environmental economic consulting firm is hired to measure the production schedule for a
coal-burning electric generating plant in such a way as to incorporate the negative externalities
associated with the pollution from the plant. The marginal social cost of this plant’s
production can be expressed as MSC =30 . Prior to the consulting firm’s ‘report, the
consultants asked the plant’s manager for data to generate the firm’s supply schedule. The
consultants calculate that the marginal private cost of the plant’s production can be expressed as
MPC =Q . The firm’s demand curve can be expressed as P =60—20. If the consultants have .

accurately measured the impact of the pollution externality, the plant is by

units.

A) oVer-producing; 8
B) under-producing; 8
C) under-producing; 16
D) over-producing; 16

14. Suppose that the marginal private benefit of a new vaccine could be measured as
MPB =10~ . Suppose that the marginal social benefit could be measured as MSB=12-0.
Suppose that the private marginal cost curve could be measured as MPC = Q. What amount of
a per-unit subsidy would encourage the optimal societal consumption of the vaccine?

A)$1. B) $6. C) $4. D) $2.
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1. Suppose in a market with 0? =200-10P and Q°=10P the government imposes a price
floor of $15. If the government is required to purchase‘any surplus at the price floor, how much
will the government have to pay to purchase the surplus in this market?

A) Nothing; there is no surplus B) $1,000 C) $1,500 D) $750

2. Suppose the price of A is $20, the price of B is $8, and that the consumer is currently
spending all available income. At the consumer’s current consumption basket the marginal
utility of A is 5 and the marginal utility of B is2.

A) The consumer is currently maximizing utility.

B) The consumer could increase utility by consuming more of good 4 and less of good B.
C) The consumer could increase utility by consuming more of good B and less of good 4.
D) Nothing can be said about the consumer’s utility because we do not know the consumer’s

income or utility function.

3. Suppose that a consumer will only drink one cup of coffee (C) with one shot of vanilla syrup
(V). This consumer’s budget constraint can be written as 3C+V =12. What should the

consumer buy?
A) 4 cups of coffee and no vanilla syrup.

B) 12 shots of vanilla syrup and no coffee.
C) 3 cups of coffee and 3 shots of vanilla syrup.
D) 4 cups of coffee and 12 shots of vanilla syrup.

4. Suppose MRS, ,=3.
A) The consumer is willing to substitute 3 units of x for 1 unitof y to leave utility

unchanged.
B) The consumer is willing to substitute 3 units of y for 1 unitof x toleave utility

unchanged.
C) Regardless of prices, the consumer will consume only y.

D) Regardless of prices, the consumer will consume only x.
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5. Suppose a consumer buys two goods, x and y and has income of $28. Initially P, =2
and P, =3 and the consumer chooses basket 4 with x=2 and y=8. The prices change

to P,=1 and P,=5 and the consumer chooses basket B with x=3 and y=35.

A) These choices are consistent with utility maximization.

B) These choices are not consistent with utility maximization.

C) With this information it is not possible to determine if these choices are consistent with
utility maximization. ’

D) Basket B must be strictly preferred to basket 4.

6. The substitution effect is
A) the change in the amount of the good consumed holding the level of income constant.
B) the change in the amount of the good consumed as the price of the good changes holding
income constant.
C) the change in the amount of the good consumed as the price of the good changes holding
utility constant.
D) the change in the amount of the good consumed holding relative prices constant and

changing the level of income.

7. When a production function can be expressed as Q = min{aK , BL} , the relationship between

capital and labor in the production function is that
A) capital and labor are perfect substitutes, and the isoquants are linear.

B) capital and labor must be combined in fixed proportions, and the isoquants are L-shaped.
C) capital and labor are easily substituted, and the isoquants are convex to the origin.
D) capital and labor are perfect substitutes, and the isoquants are L-shaped.

8. The production function of Q=2K+3L exhibits
A) increasing returns to scale.
B) decreasing returns to scale.
C) constant returns to scale.
D) undefined returns to scale.

© Use the following information for problems 10 and 11. Suppose that a firm’s production function is
givenby Q= K’L . Further suppose that w=$10 and r=§20.

9. Suppose that the firm wants to produce 27,000 units of output in the most efficient way possible.

How much does the firm spend?
A) $600 B) $900 C) $1,500 D) $2,100

10. Suppose that the firm spends exactly $1200 in the most efficient way possible. How much

output can the firm produce?
A) 50,000 B) 56,406.25 C) 60,750 D) 64,000
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11.

12.

13.

Which of the following is a real-world example of a negative externality?

A) You are craving a Diet Coke® for lunch. However, the customer ahead of you in line at
the hot dog stand buys the.last can of Diet Coke.® '

B) National defense is available even for peopyle who do not pay income taxes.

C) A person seated in a non-smoking section of a restaurant decides to sneak a few puffs of a
cigarette.

D) A child receives a vaccination to prevent the spread of measles.

Consider the Cobb-Douglas production function Q=25K JL. The avefage cost function
associated with this production technology will exhibit
A) indeterminate scale economies since the level of output and the prices of the inputs are

~ unknown.
B) diseconomies-of scale..
C) economies of scale
D) neither economies nor diseconomies of scale.

Suppose that your local internet provider, USA-line, is congested around 8 pm on Thursday
nights, which is when many students download Friday’s homework assignments from their
professors’ home pages. Thursday nights represent the peak volume time for USA-line.
USA-line’s supply curve can be represented as P=2+2Q. The cost of the congestion during
peak times can be represented as P =(. The marginal benefit during peak times can be

~ represented as P=18~Q. If USA-line is unaware of the externality effects of the congestion

14.

during peak on-line times, what is the value of the deadweight loss?
A) $2.66. B) $5.32. C) $8. D) $14.21.

Suppose that a market is initially in equilibrium. The initial demand curve is P=90- Q°. The
initial supply curve is P =2Q°. Suppose that the government imposes a $3 tax on this market.

How much of this $3 is-paid for by producers?
A) $0. B) $1. C) $1.50. D) $2.

HHEATE ¢ 105 » FFHRTRERER R R ERTE -
1158 " HRAEAR P (economies of scale ) | 7 AIFE "R A(return to scale) ; ? FERIRIERIBALRIRT 7 &
B -
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1. Identify the truthfulness of the following statements‘.' _ .
I. Demand tends to be more price inelastic when few substitutes for a product exist.
II. Demand tends to be more price elastic when a consumer’s expenditure on the product is
small.
A) Both I and II are true.
B) Both I and II are false.
C) 1is true; Il is false.
D) Iis false; II is true.

2. Suppose a consumer buys two goods, x and y and has income of $28. Initially P, =2
and P,=3 and the consumer chooses basket 4 with x=2 and y=8. The prices change

to P.=1 and P,=5 and the consumer chooses basket B with x=3 and y=3.

A) These choices are consistent with utility maximization.

B) These choices are not consistent with utility maximization.

C) With this information it is not possible to determine if these choices are consistent with
utility maximization. -

D) Basket B must be strictly preferred to basket A.

3. Which of the following utility functions is an example of preferences for perfect substitutes?
A) Ulx,y)=xy
B) U(x,y)=min{2x,y}
C) U(x,y)=3x+5y
D) U(x,y) =2x"+4y
4. Suppose that a consumer will only drink one cup of coffee (C) with one shot of vanilla syrup
(V). This consumer’s budget constraint can be written as 3C+V =12. What should the
consumer buy?
A) 4 cups of coffee and no vanilla syrup.
B) 3 cups of coffee and 3 shots of vanilla syrup.
C) 12 shots of vanilla syrup and no coffee.
D) 4 cups of coffee and 12 shots of vanilla syrup.
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5. In order to identify a consumer’s demand curve from an optimal choice diagram we
A) change the price of one good, holding income and the price of the other good constant, and

identify the baskets the consumer chooses with each price level.

B) change the consumer’s income, holding the prices of both goods constant, and identify the
baskets the consumer chooses with each income level.

C) change the price’s of both goods, holding income constant, and identify the baskets the
consumer chooses with each price level.

D) change the price of one good and then change the income level so that the consumer
achieves the same level of utility as before the price change and then identify the optimal

consumption baskets at each price level.

6. If marginal product is greater than average product
A) marginal product must be decreasing.
B) marginal product must be increasing.
C) average product must be increasing.

D) average product may be increasing or decreasing.

7. The production function of Q =2K+3L exhibits
A) increasing returns to scale.
B) constant returns to scale.
C) decreasing returns to scale.
D) undefined returns to scale.

Use the following information for problems 8 and 9. Suppose that a firm’s production function is
given by Q=KL . Further suppose that w=3$10 and r= =$20.

8. Suppose that the firm wants to produce 27, 000 units of output in the most efficient way possible.

How much does the firm spend‘?
A) $600 B) $1,500 C) $900 D) $2,100

9. Suppose that the firm spends exactly $1200 in the most efficient way possible. How much

output can the firm produce?
A) 50,000 B) 64,000 C) 60,750 D) 56,406.25

10. Suppose Joe starts his own business. In the first year the business earns $100,000 in revenue and
incurs $75,000 in explicit costs. In addition, Joe has a standing offer to come work for his

brother for $50,000 per year. Joe’s accounting profit is and Joe’s economic profit is

A) $25,000 and $50,000
B) $-25,000 and $25,000
C) $50,000 and $25,000
D) $25,000 and $-25,000
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1.

12.

13.

Suppose that a market is initially in.equilibrium. The initial demand curve is P=90-Q". The
initial supply curve is P =2Q°. Suppose that the government imposes a $3 tax on this market.

How much of this $3 is paid for by producers?
A) $0. B) $1. C) $2. D) $1.50.

Suppose that Bill, George, and Al constitute the entire market for consumers of national defense.
Each man has an identical demand curve for national defense, which can be expressed as
P =50-0 . Suppose that the marginal cost for national defense can be expressed as MC = $30.
What is the optimal quantity of national defense?

A) 150 units. B) 60 units C)40 units. D) 20 units.

An environmental economic consulting firm is hired to measure the production schedule for a
coal-burning electric generating plant in such a way as to incorporate the negative externalities

associated with the ‘pollution from the plant. The marginal social cost of this plant’s

production can be expressed as MSC =30Q+10. Prior to the consulting firm’s report, the
consultants asked the plant’s manager for data to generate the firm’s supply schedule. The
consultants calculate that the marginal private cost of the plant’s production can be expressed as
MPC=0+10. The firm’s demand curve can be expressed as P =60-Q . If the consultants
have accurately measured the impact of the pollution externality, the cost of the externality is

A) greater than $572. |

B) between $573 and $468.

C) between $468 and $312.

. D) less than $312.

14.

Which of the following is NOT a real-world example of third-degree price discrimination?

A) A railroad charges more to haul 100 tons of coal than it does to haul 100 tons of grain.

B) An airline charges a lower price for a coach ticket purchased four weeks in advance than for
the same type of ticket purchased three days in advance.

C) A movie theater charges senior citizens a cheaper price for movie tickets than it charges
non-senior citizens for the same movie ticket.

D) Sam’s Club® warehouses sell bulk quantities of macaroni and cheese for a cheaper per unit
price than a grocery store, but the boxes are packaged together so that the customer must

buy six boxes at a time.
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